T&T6 3.3 Complex Equations November 07, 2014

n a Coulob.:x 2quekion :
Qe =Re  gud  Im -'-'IW'

It a+ bi =

X + yi,
then a =x and b=y

(Example 2 )

Find x and y if x + 2i + 2(3 — Syi) =8 — 13i.

CHS RHs
T.'AWLHS X424+ 2(3-54i) =8 -3
X +2: + E—ID;,:' =8 =13

ol xsese s [xma
far= fim %/—10yf = -13/

+IO?_ = +/S

7. Find the values of @ and b in each of the following;:
(i) a+bi+3—2i=4(-2+5i)

A+bi +2-20 =4 (-a+si)

ix,aa-«o( 2Hs a+bh +%-2i =-f tao
fe = Ve A+3 = -8 >
I = b, L —2 =20
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11. If (x 4+ iy)*> = 8 — 6i,find the values of x and y,x,y € R.

(x 4-.'7)" = 3-6i

ol R4S
Mmd "l xz._r_lx?i ?}z/( - ?—éf

(a+b)t = a™+ ok ti*
&5"@_ -X'l—’ ?‘L - 3
(1= [ oix?, = -4
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